Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C321902 Date: 06 -01 -2016
Subject Name: MATERIAL SCIENCE & METALLURGY
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:

1.

g~ W

No.

Attempt all questions.

Make suitable assumption wherever necessary.

Each question is of 1 mark.

Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)

English version is authentic.

Question Text and Option. Ust e (Ascl.
The ability of the material to be drawn into wire is known as

A. Malleability B. Ductility
C. Hardness D. Toughness
WAlal R olotlell asclell Ueldatl ajRud o 56 0.
A R@Aolcldl B, ssR@2l
C. asaa D. zsqa
In type of crystal structure one atom lies at each corner of the cube and one
atom at the centre of the cube.
A. FCC B. H.CP
C. B.CC D. None of above

UslRell ($ect RsUML s As WY sYololl €35 WRUHL Aol As
U] sYololl SoaHl Sl B,
A gl B. qudldl
C. ol D. Guzetl As ual ol

The property of the surface of material to reflect light in a normal day light is known
as

A. colou.r B. density

C. melting point D. lustre

Ueldoll Awdlott ystal & uRnaldd saletl opRiud o 56 8.
A seR B. dotcll

C. oeldlg D.  uyaste

The property of the material to allow the 100 % electrical current to pass through it is
known as

A.  Electrical conductivity B.  Electrical Resistivity

C.  Super conductivity D. Dielectric strength

WdletHiell 100% Qg yals UR dall Eallotl UeLdall o[atud o _ 53 8.
A flg-cllesll B. cflg- w@usdl

Chromium has crystal structure.

A. FC.C B. HCP

C. B.CC D. None of above

slRan (3 ®sAR YA B.
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10.

0.

11.

Q.

12.

.

A AgAll B ALl

C. oL GURall As UL oldl
Silver has crystal structure.

A. FC.C B. HCP

C. B.CC D. None of above

ReaR (3ed AR YRAA B.

A Agdll B. qudldl

C. oLl D. GuReitiuell As uwl o8l
With increases of cooling rate the size of grain :

A. Increases B.  Decreases

C. AorB D. None of above

gcllol 22 atlRdl Qefat BB 8.

A al B w2

C. AorB GURall As ULl o8l
Density of iron is

A 787 B. 896

C. 1134 D. 8.90

Aluisell ot 8.

A. 7.87 B. 8.96

C. 1134 D. 890

Eutectoid steel consists of following.

A. wholly pearlite B.  wholly austenite

C. pearlite and ferrite D. pearlite and cementite
YeseSs Xl ol Actiuiell uRAd .

A dyd udlse B ayd 2t

C udige ua druse D ualge wa RANaiese
Shock resisting steels should have

A. low wear resistance B.  low hardness

C. low tensile strength D. High toughness

Als el Eld ucld 8lg A,

A A QR e B Al sléaal

C. A AuBA ol D. a8 2salal

The percentage of carbon in cast iron is :

A. 01to05 B. 05tol

C. 1tolb D. 15t06.7

sl BlAAHL sloleto] YHIQL ala ®.

A. 01to05 B. 05tol

C. 1tol5 D. 15to6.7

Brass is an alloy of

A. copper and zinc B.  copperand tin

C. copper, tin and zinc D. Copper and iron

Wl A ol MsitLd B.

A BlUR ua [BFs B- gluR A dlot
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13.

3.

14.

.

15.

Q.

16.

6.

17.

9.

18.

c.

19.

c.

C AR, dlot wa (B3s D Qluz R el
A small percentage of boron is added to steel in order to

A.  reduce machinability B. increase wear resistance
C. increase hardenability D. increase endurance strength
H2 WBlAHL AL YHIRHL clRlet GRRAUHL 1A B,

A el uetsa B, [Qur dprée dulral 12

C. slflR@d auzal D. BogRed [AU AtRal

The lower critical point for all steel is :

A. 600°C B. 700°C

C. 723°C D. 913°C

Wl o WA WS AUR slélse WS 8.

A. 600°C B. 700°C

C. 723°C D. 913°C

The heat treatment process used for softening hardened steel is

A. carburising B. normalising

C. annealing D. tempering

ol§ scl Rlal oM sal M2 5 (82 Zlede ylsau sauni v B.

A glefisBiol B, aulcus@ol

C uefll@ot D 2ol

The lower critical temperature of steel with the increases of carbon content.

A. decreases B. increases

C. remains constant D. decreases slowly

Wldo] ARMR s1lsA 21URUR stolate] Yuial cticls(l A 0.

A u B ad

C. wun 23 D. R-A w2

Which of the following statements are true for annealing of steels?

A.  Steels are heated from 500° to B. Cooling is done slowly and steadily
700° C temperature

C. Internal stresses are relieved D. all of the above

Bletotl well(@ot 12 ollAstniell 5 (Qutst U B?
A el 500°0700°C ctumid B reell wa ey g(@o sraumi
ORH SRl A B, 8.

C. Ho2relcel U £ U B, D. Guretl dun
Flame hardening is basically a .
A. carburising process B.  surface hardening process
C.  core-hardening process D. none of above
SASH sL8lolol A cllircd Ml 8.
B.

A slefisal ylsa A% sL8lolol ylsau

c. 5 sléllot ylsau D. Guzell As gl A&

When elements like nickel, chromium, copper and molybdenum are added to the
molten cast iron, it produces what?

A. alloy cast iron B.  nodular cast iron
C.  white cast iron D. malleable cast iron

A2 UAAL sRe RAHl [Asc, s\, SLUR W WleAsH Bal Ues
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20.

R0.

21.

1.

22.

.

23.

R3.

24.

RY¥.

25.

QY.

26.

GHRAML WA B, R 9 Gclat Ul 8?

A e el ol Mstuld B.  Ayer sie vl

C. alge sie wllet D. QC'[IQO{@ $12 Wllol

Steel with carbon above 0.8% is known as steel.

A. Hypo eutectoid B.  Hyper eutectoid

C. Eutectoid D. None of above

0.8% $cl AR sloletl YURlcldl ¥l Xld s B.

A sl YRsAles B.  slguz yY2salds

C.  Psads D. GuRai As ual &l

The machinability of steel may improve by adding

A. nickel B. chromium

C. nickel and chromium D. sulphur, lead and phosphorus
Gl Fldell HallA(@S Yl asla .

A [@AsA B.  aRan

C. [sc wa s\Ran D. e, cls wal srs

In Iron —Carbon diagram &-Iron is form above ° temperature.

A. 1400 B. 910

C. 723 D. 1235

W2lol-5l0det SLRUAULHHL (3ol Atumiet GUR 3cal Bldel o B.

A. 1400 B. 910

C. 723 D. 1235

When chromium added to steel, the tensile strength of steel

A. Increase B. decrease

C. does not effect D. AorB

R WAHL slRAH GARaHl wA B, R WAl 2B B
8.

A al B w2
Steel with carbon is known as hypo-eutectoid steel.
A. 0.8% B. Lessthan 0.8%
C. Greater than 0.8% D. None of above
slolol tRladl Bldal sl Yeslss Bld s& B.
A 0.8% B. 0.8% 5cil 3wl
C. 0.8% s2cll au® D. GURell AsUQL o1&l
Which of the following iron form exist between 910° C and 1400° C temperature?
A. a-iron B.  B-iron
C. y-iron D. &-iron
910° &l 1400° C cllUHlel dRRA slolel of 52) U Sl B?
A g e B. g el
Co oy D 5 a2l
Which of the following property is desirable for materials used in cutting tools?
A. Ductility B. plasticity
C. Malleability D. Hardness
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R6S.

217.

V.

28.

RC.

29.

RC.

30.

30.

31.

39.

32.

3R.

33.

(3ol gt Hi cluRlcAl HRRAUA Ml ollAott 1l &l s20 dppiud glal S\gA?
A ssBl@d B. wdllldl

C. AdlAlclldl D si8a

The name of lens in microscope near the specimen is :

A. Eyepiece B.  Collector lens

C. Objective D. None of above

HESSREUHL RURA ol soll Aola] ollH 8.

A e Yl B.  sAser Ao

C. QoBsdla D. Gurett Asugl o8l

If objective has magnification of 300X and eye-piece has magnification of 10X than
the total magnification of microscope is .
A. 310X B. 3000X

C. 30X D. 10X

wogsdlele] Noo{l(EHalet 300X wal s Ulte] Aoo{l(332l0t 10X 8l A,
HIESREU of gt Aoe{l(EBalet L

A. 310X B. 3000X

C. 30X D. 10X

After grinding on one emery paper the specimen is turn by ° angle.
A 90 B. 360

C. 180 D. 60

As AHI AUR UR YUl ugl VRN ° AoIA 2ol sclHl WA B,
A. 90 B. 360

C. 180 D. 60

The type of etchant used for C.1 and steel specimen is

A. potassium B. ammonia

C. nital D. glycerol

512 WlAel Wal Wletatl WRAAA M2 BUc2 AU O.
A QRRaM B aao{lan

C. [ed D. Gauda

Microscope work on the principle of

A. Reflection of light rays B.  Absorption of light rays
C. Transmission of light rays D. None of above
HESHRSIU Redid UR sid 52 .

A ysiatell (3200e] URleldet B ysiatetl 3200 2ma
C. ysiaetl (3200ef cset D. Gurei Asuwl o1d
The main component of steel is

A. Carbon B. Manganese

C. lron D.  Sulphur

Vldoll Yyt Ues 8.

A Lol B {3l

C. D yese

Castironis a .

A. ductile material B. elastic material

5/11



33.

34.

3%.

35.

34,

36.

36.

37.

390.

38.

3¢.

39.

3¢C.

40.

¥O0.

C. plastic material D.  bDrittle material

e L2l 8.

A sselsd HRRad B.  gaudls uRRaa
C s HRRac D. ofledt HRRaA
Bauxite is the ore of

A.  copper B. aluminium

C. iron D. tin

dlsAege A ol (A3t uld B.

A Qua B, AeyMan
C. el D. &t

The product of cupola furnace is

A.  Wrought iron B.  steel

C. Castiron D.  Stainless steel
Ul $aall Ylss2 0.

A usdr s B e

C. sie vl D Reldu ¥
Which material is used for making cooking utensils?

A.  Stainless steel B.  Aluminium

C. Castiron D. BothA&B
AUl B clotletal HIZ 53 HRRUA duRvA B?
A Radu ¥l B aian
C. s el D. A ua B ool
Components of Bronze are .

A. Copper &tin B. Copper & zinc
C. Copper & silver D. Copper & lead
ol ol u2sl 8.

A SUR & Elat B- lu? & s
C auwR & RcaR D Quz & dls
C35 Mn75 steel has Carbon percentage.

A. 35 B. 35

C. 035 D. 0.75

C35 Mn75 ¥ld Ui stolat ol estal 8.

A. 35 B. 35

C. 035 D. 0.75

Car body is generally made from .

A. Castiron B. Mild steel

C.  Worought iron D. Stainless steel
512 LSl H2eudl el oleticua 8.

A. B.

C. D.

Which material is used for making machine tool guide ways?
A. Grey cast iron B.  White cast iron
C. Malleable cast iron D. steel

Hellot 2ct oll ouESs A sal HRRad Hi ol sleticu B,
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41.

¥q.

42.

¥R.

43.

¥3.

44,

¥¥.

45.

¥Uu.

46.

¥S.

47.

¥O.

A3 s el B, cslefe size uilel

C. RllAud size w26l D. ¥«

Components of gun metal are .

A. 88%Cu,10% tin and 2%lead B. 88%Cu,10% tin and 2%zinc
C. 80%Cu, 20% zinc and 2%lead D. 80%Cu,20% zinc and 2%tin
el ReAHL Uesl sl .

A. 88%Cu,10% tin and 2%lead B. 88%Cu,10% tin and 2%zinc

C. 80%Cu, 20% zinc and 2%lead D. 80%Cu, 20% zinc and 2%tin
is specially used for producing marine castings

A. Naval brass B.  Gun metal
C. Muntz metal D. Cartridge brass
A WAL 53la U3lot 13101 oletlaal quRA B,
A olad sl B. ol Nect
C. neeu Ned D. g2l au
is not alloy of aluminium.
A.  Duralumin B. Mangalium
C. Hindalium D. Bronze
AAAamol Astuld otell.
A syde)@et B. M@Qan
C. E3Aan D. Qoo
Blast furnace is used to produce
A. Pigiron B. Castiron
C. Steel D.  Wrought iron
OARR $Ro™U olotlalal duRlA 8.
A lat et B size
C. e D usdz Auis
Which property is required for bearing material?
A.  High wear resistance B.  Good thermal conductivity
C. BothA&B D. None of above
ARol HRRaA 1R s o 33l &2
A ay daRl ydlRusd B adl G cgsel
C. A=ua B ola D Guzetl Asuwl oldl.
German silver has % of silver.
A. 80 B. 20
C. O D. 50
ool RcclRul % RedR s B.
A. 80 B. 20
C. O D. 50
In designation of St42 steel 42 indicate .
A. Ultimate Tensile strength B.  Carbon percentage
C. Percentage of alloying element D. Elongation percentage
St42 R\ Holl dAlHSWVAHL 42 gela ®.
A ucdlie 2oSH B B. sielotoll estaudl
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48.

¥C.

49.

¥C.

50.

vo.

51.

ua.

52.

UR.

53.

u3.

54.

uy.

C. @3t uehloll estaudl D.

A AN ofl 2statl

Which of the following material is non-metallic?

A. Copper B.  Silver
C. Steel D. ceramic
ol Aotul ol 53 HRRuA wuld B?
A BwR B RecR
C. e D RaMs
Generally non- metallic material has value of electrical and thermal conductivity.
A. Veryhigh B. high
C. medium D. low
Ul el M2 (A clesdl wal G2 clssle] Yt sl ®.
A g aurR B, qu
C ey D Qg
What is the full form of P.V.C?
A. Polyvinyl chloride B.  Polyvinyl chlorine
C. Polyvinyl calcium D. Polyvinyl cement
ULl of y3 ot g B?
A Qell@Qeuse sARIESS B.  Qdl@susct scdlet
C Qcdl@susa daan D Qedl@susct @2
Which of the following is an amorphous material?
A. Mica B.  Silver
C. Lead D. Glass
(Aol Ul 53] HRRAUA WS B?
A st B Rcar
Cods s1U
Which of the following property is/are desired for good refractory materials?
A. Refractoriness B.  Ceramic bond
C. Dimensional stability D. All of above
AR R%s523 HRRAUA M2 o{lAstini &l s /s opeiud Sl B,
A Risedlat B RRMs olles
C. sadeidd R@ARE D. Gurell

is the semi-conductor of electricity.
A.  Wood B. Plastic
C. Silicon D. Rubber

A (Agclof udaues B.

A auss B s
C RE@S. 043

material is used to cut glass
A. Emery B.  Garnet
C. Quartz D. Diamond

HRRA 2™ stucl HIZ AR .

A 8 B.

RAR
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55.

e

56.

us.

57.

9.

58.

uc.

59.

ue.

60.

SO.

61.

C. saéx D.  stauis

To reduce wear of the surface is used.
A. lubricant B. Adhesive
C. Abrasive D. colour
AUl YA Yatsal H2 U B,
A gollsee B, wsdRa
C. QAR D saR
is used for joining two metals
A. Ceramic B. Mica
C. Fevicol D. m-seal
A tldel slsal Hie duRlA 8.
A RRs B. st
C. 3Qsia D. Qu-dla
In electroplating process work-piece is used as
A. Anode B. Cathode
C. Anode or cathode D. None of the above
sAsARIL YsauHl asUlu 3% auRa B,
A Qs B.  ¥als
C. Aalls waal 3as D. Guzet Asuwl o1&l

is a localized corrosion in which small holes are formed.

A.  Crevice corrosion B.  Stress corrosion
C. Pitting corrosion D.  Uniform corrosion
A AUES Bl B 3 BHL olloll ollatl Slal a2 B.
A Fasu walal B, Rawawa
C. Bl weara D. yoll5lal weuwt
Which of the following is not an application of powder metallurgy?
A. X-Ray Tube B.  Piston rings
C. Machine Frame D. Gears
[AAottHiell 585 was? Aeteesl ol GuAdi otell?
A AR Yol B Rizest Rol
Co allet 3 D. 5l
is a thermo-plastic material.
A. Polystyrene B. melamine
C.  Urea formaldehyde D.  Phenol formaldehyde
A allwlRs Heldlaa B.
A QdlRetilat B Retuget
C. yRau Auicslsles D dlallet AnicSlslss
The grinding wheel is made by bonding of particles of material.
A. refractories B. adhesive
C. abrasive D. mica
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Sq.

62.

SR.

63.

S3.

64.

S¥.

65.

S\U.

66.

S6S.

67.

SO.

68.

SC.

WSl Sl A HRRuA Welscoll oll(Sal gl olollelld B,

A REsedl B. As3R@a

C. AJRa D. st

The percentage of tungsten in 18:4:1 H.S.S. is :

A.  18% B. 4%

C. 1% D. None of above

18:4:1 H.S.S. Ul éokeat ol estall _ B,

A 18% B. 4%

C. 1% D. Guretl Asunl «1@

The teeth of gears are normally hardened by hardening process.
A. Carburizing B. Flame

C. Nitriding D. Induction

Pladletl eidief st8o{lol alSollol ylsaul iRl awa 8,

A glofueaflol B. sAu

C augaeslol D gos52l0l

Metal powder used for powder metallurgy process is made by

A.  Atomisation B.  Reduction of oxide

C.  Milling or grinding D. Anyone of above

ulas? Aeles] WRAR HI2 AUl Uldell was GlRL ol 8.
A RAE Rt B. dssetet Al 2s08s

C. @b uaat aesslal D Gurell

Sintering is a process carried out in .

A.  Machining B.  Powder metallurgy

C.  Heat treatment D. None of the above
oot N ui sl uadl ylsau 8.

A ueleoflal B yas? Relesl

C. & dlede D.  Guzet Asuwl ol
Which of the following is an advantage of powder metallurgy?

A. No wastage of material B.  Good dimensional accuracy

C. Production of Complicated parts D.  All of the above
ol Astimiell s20 Ulas? Nalddlell slAEl B,

A yRRaucA wous adl el B il wiu sy 1AL B,

C. ueuel wed oot asta ®. P GuRell
Annealing result in

A. Improving machinability B.  Refining grain structure

C. Releaving internal stress D. All of the Above

i@ &l

A qAARER@AM Ul wa . B el 25 Rstget i d.
C. Ho2relcel U £ U B, D. Gurell dxH

Which one of the following is not the purpose of electroplating?

A.  rework worn out parts B.  improve hardness

C.  protect against corrosion D. improve appearance

o(lAsttiell s20 sAs AR & otell?
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69.

Sc.

70.

90.

A.
C.

URALAC UleRlo] AHRSIH B st8aeul Yuill s2al
WAl AR el Anag D. 2uiaui yud saAl

Which type of corrosion occurs in parts of vibrating machines?

A
C.

Biological corrosion
Fretting corrosion

B.  Pitting corrosion
D. Surface corrosion

Aol HallotHi sl Ysle] Waldl e 87?

A
C.

o>

GLRAAUR A Wil
I ERIRPTIE

B. QoL wawl
D. quwdle] went

is the metal finishing process.

Electroplating

Cyaniding

B.  Annealing
D.  Flame hardening

A Red R ysa ®.

sAsWARL
A3t

B. wai(dol
sAH 6l§(oL

kkhkhkhkhkhhkhkkhkkk
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